Question Bank

Chapter 3
Income and the Foundations
Think Break Questions (from Book: pp. 52, 57, 59)
1. Suppose there is a lean ground beef with higher protein content per gram than 0.24.  How would the food nutrient relationship in Figure 3.4 change?
2. Given 1, show and explain how you could consume less lean ground beef and still meet the recommended nutrient level.
3. Suppose there is a decrease in the price of normal ground beef.  What would happen to Figure 3.4?
4. Put your answer to 1 and 3 together on the same graph.  Show and explain two alternative ways to hit the nutrient recommendation target: switching to a leaner ground beef given the same budget or paying less for normal ground beef with the existing budget.
5. Using Figure 3.6, show what happens to the gap between the recommended food consumption for optimizing health and the money constrained food consumption as price decreases.
6. Using Figure 3.7, show what happens to the gap between the recommended food consumption for optimizing utility and the money constrained food consumption as price decreases.
7. At what point in either Figure 3.6 or 3.7 does the budget or price become irrelevant?
8. Using Figure 3.8, explain how increasing the food budget may or may not lead to consumption closer to the recommended level.
9. Looking at Figure 3.8, think of examples of foods where health utility probably maximizes before hedonic utility (i.e., we eat too much) and examples of foods where health utility maximizes after hedonic utility (i.e., we eat too little). 
10. Some people place a lot of emphasis on health utility and others place very little significance on health utility.  Show and explain what would happen to Figure 3.8, and the implications for consumption, if an individual placed less significance on health utility (i.e., β decreases).  What about more?

Multiple Choice Questions
1.  The name of the nutritionist in the book, JP, is short for

a.  Jenny Potter

b.  Jill Pepper

c.  John Paul

2. As income increases food consumption tends to increase but more for dairy than meat.
a.  True

b.  False

3. The four building blocks of the 1 x 1 model are:

a. The food budget relationship, the food nutrient relationship, the recommended nutrient 

    relationship and the food preference relationship.

b. The food budget relationship, the food nutrient relationship, the nutrient-health relationship 

    and the food preference relationship.

c. The food nutrient relationship, the budget constraint, the demand function, and the 

    recommended nutrient intake line.

4. A budget constraint states that there is a fixed amount of money to be allocated across all goods consumed.

a.  True

b.  False

5. The food-budget relationship just gives the total amount of money spent on a food item and is equal to the price of the food times the quantity of the food purchased. 
a. True

b. False

6. If the nutrient conversion factor for a food increases, the food-nutrient relationship line will 
a. Rotate clockwise

b. Rotate counter-clockwise

c. Shift down

d. Shift up

7. An increase in a nutrient conversion factor in the 1 x 1 model nutrient food relationship will

    ___________ (fill in blank).

a. be a movement up along the nutrient food relationship line

b. cause the nutrient food relationship to rotate counter clockwise

c. cause the nutrient food relationship to shift to the right

8.  If H represents health and F represents the intake of a specific food, then the notation
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means

a. Health is negative for this food

b. Health decreases as more of this food is consumed

c.  a and b

9.  The health production function shows the technical relationship between inputs and health outcomes.

a. True

b. False

10.  If the positive slope of the health production function is decreasing this means

a. health is decreasing

b. health is not increasing as fast as the health inputs are increasing

c. a and b

11.  Everyone has the same health production function

a. True

b. True

12. Health is optimized with respect to nutrition at the recommended intake level of nutrition.

a. True

b. False

13.  In economics, the term utility refers to a metric of your overall satisfaction level and reflects your preferences.
a. True

b. False

14. The slope of the utility function with respect to a good is known as 

a. marginal utility of the good

b. marginal rate of substitution

c. marginal product of the good

15. Diminishing marginal utility refers to the process where each additional unit of a utility gets smaller and smaller for every additional unit of a good you consume.

a. True

b. False

 16. Food consumption for optimal health implies optimal utility and vice versa.

a. True

b. False

17. Health utility refers to the all utility from a food that operates through a concern for and evaluation of health effects.  

a. True

b. False

18. Hedonic utility refers to utility originating from any source other than health, such as through the senses, emotions, or from a social setting.
a. True

b. False

19. The total utility function is comprised of two parts:  the food utility and the health utility.

a. True

b. False

20. If the hedonic utility and health utility functions reach their maximum at different points, then the individual will choose the level of consumption that maximizes hedonic utility. 

a. True

b. False

21. Eating a healthy food will always lead to a higher level of utility.

a. True

b. False

22. Having more money will always increase your hedonic utility level.
a. True

b. False

23. Having more money will always increase your health utility level.

a. True

b. False

24. A welfare-transfer program, such as SNAP, will always increase people’s consumption of healthy foods.
a. True

b. False

25.  A person who goes from consuming a healthy diet to an unhealthy diet will automatically decrease their utility. 

a. True

b. False

26.  In the closing conversation,  JP and Margaret are going to eat at the Doughnut Factory to discuss chapter 4 topics.

a. True

b. False

Short Answer Questions
1. Suppose Beth lives in Ireland and Beverly lives in Idaho.  Beth and Beverly have the exact same amount of money to spend on potatoes but potatoes are more expensive in Idaho than Ireland.  Furthermore Idaho potatoes have more vitamin C per gram than Irish potatoes.  Show graphically that even though potatoes are more expensive in Idaho, Beverly can reach the target Vitamin C level with less consumption than Beth.  Explain the graph.
2. Sarah is a committed nutritionist.  She loves to eat the exact amount of vegetables as daily recommended and did last week.  However, the price of vegetables at her local grocery store went up a lot last week and she can no longer afford to eat the same amount of vegetables as before.  Show and explain the situation before and after the price increase and why she is still consuming the best amount she can, given her budget constraint, for her health.

3. Bill has diabetes and knows that a Wendy’s Triple Cheeseburger is not good for his health, but he loves the taste of them and eats about ten per month.  The optimal number from a health perspective is about two per month.  In an attempt to get him to reduce his consumption of the hamburgers, Bill’s nutrition counselor, Kim, reaches an agreement with Bill that he will only spend $15 the next month (March) on Wendy’s hamburgers.  In April, Bill reports to Kim that he ate five Triples in March.  Using a single graph that includes the hedonic utility function and the health utility function show and explain how this is possible.  Using the graph also explain what Kim could do to further improve the situation.
4. Assume vegetables are considered food one (F1).  

(a) Rebecca is rich and could buy as many vegetables as she could ever need.  However the only way she knows how to prepare vegetables is with a steamer and she does not like the taste of steamed vegetables.  Though she realizes vegetables are good for her health, she does not meet the DGA recommendation level.  Show and explain why she will never consume the optimum amount for her health.  State whatever assumptions you make.

(b) Rebecca’s cousin, Sabrina, visits Rebecca for a weekend and shows her how to roast vegetables on the grill.  Rebecca discovers she loves the taste of grilled vegetables and after a month of keeping records she realizes she is exceeding the DGA daily recommendations for vegetables. Show and explain what happened to the graph from part a.  
Discussion Questions 
1. Suppose Barbie has studied the dietary guidelines and for her age she should consume on average a certain number of grams of iron per day.  She is paying her way through college and lives on a very tight budget.  She is considering buying spinach from one of two sources: the local fresh produce stand (Ff) or from the grocery store in a can (Fc).  She knows that the fresh spinach Ff has more iron per gram than the canned spinach Fc.  She has a friend whose spouse is as a doctor, they live in an upscale house, and they have no financial worries.  Her friend tells her she should always buy local as this is healthier for her.  Alternatively, the nutrition extension agent in her county tells her, because the fresh spinach cost more per gram, the iron per gram difference between the fresh and canned spinach is not enough to offset the price difference per gram.  Show graphically how Barbie may be able to reach her daily target iron level (NR) from canned spinach even though it has a lower iron content per gram (i.e., how the extension agent could be right).  Assume Barbie has a fixed amount of money M to spend on spinach.  Explain the graph in words.
2.  Bonnie and Liz are Dietetics students at Virginia Tech and are considering going out to eat on Friday night.  Bonnie is a single mother from a poor coal mining town in West Virginia and after paying all her bills (heat, rent, child care while she goes to school, tuition) she has determined she has $8.00 dollars to spend for the evening. Liz is from an affluent Northern Virginia suburb and after paying all her bills has determined she is willing to spend $12 dollars to spend for the evening.  Both know their carbohydrate RDA target is 130 g.  Both have already consumed 90 grams of carbohydrates for the day, so have 40 grams left to reach the target.  The first dish they are considering is priced at $7.00 and weighs 500 grams.  The carbohydrate nutrient conversion factor for this dish is .06.  The second dish they are considering cost $10 and weighs 500 grams.  The carbohydrate nutrient conversion factor for this dish is .08.  Based on this information answer the following questions.

(a)  How many carbs are associated with each dish?

(b)  What is the price per gram for weight?

(c)  What is the price per gram for carbohydrates?

(d)  Which dish should Bonnie buy and explain why?

(e)  Which dish should Liz buy and explain why?

(f)   If they are really good friends what agreement could they reach so both could reach the target level and explain?

(g)  Suppose they also wanted to go to a discount movie for $3 each, could they do this and still reach the carbohydrate target? Explain
3.  Donna is a 24 year old unemployed but optimistic dietitian.  She knows all of the RDAs by heart.  She knows that the carbohydrate RDA for males and females 19 – 30 is 130 g.  Suppose she has already consumed 60 grams of carbohydrates for the day, so she has 70 grams left to reach the target.  She is going out to eat with a friend and she has budgeted $10 for the meal but obviously would like to spend less because of her employment status.  The first dish she is considering is priced at $7.00 and weighs 500 grams.  The carbohydrate nutrient conversion factor for this dish is .08.  The second dish she is considering cost $9 and weighs 800 grams.  The carbohydrate nutrient conversion factor for this dish is .075.  Based on this information answer the following questions.

(a)  How many carbs are associated with each dish?

(b)  What is the price per gram for weight?

(c)  What is the price per gram for carbohydrates?

(d)  Which dish should Donna buy and explain why?

(e)   Does your answer change if Donna says she wants to buy a song at iTunes for $1.99?  

(f)   Does your answer to (e) have any implications for meeting the RDA for this day?
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